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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 100.00 1.00 10.71 2.00
2 3 113.90 1.00 100.00 1.00 10.71 2.00
3 4 106.33 1.00 100.00 1.00 10.70 2.00
4 5 100.00 1.00 10.16 1.90
5 6 100.00 1.00 8.69 1.62
6 7 100.00 1.00 8.69 1.62
7 8 96.71 1.00 8.26 154
8 9 96.19 1.00 8.26 1.54
9 10 96.19 1.00 8.21 153
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 92.75 1.00 13.84 2.59
2 3 100.00 1.00 13.84 2.59
3 4 100.00 1.00 1159 2.17
4 5 75.92 1.00 9.11 1.70
5 6 75.92 1.00 10.03 1.87
6 7 61.67 1.00 10.46 1.96
7 8 54,59 1.00 11.25 2.10
8 9 44,68 1.00 11.25 2.10
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